SUMMATIVE ASSESSMENT TERM I 2025 - 2026

MODEL QUESTION PAPER
MATHEMATICS

Class : 7 Time : 2 Hours 15 Minutes

Instructions

1. 15 minutes is given as cool - off time. Use this time to read and understand
the questions and plan answers accordingly.

2. Answer all the 6 questions

3. Question number 1 and 6 have internal choices (1 A andd B; 6A and 6B).
Answer to any one of the sub questions A or B underit:

The first question has 2 questions (1 A and 1 B). You only need to answer
one of them.

1. A. In the figure, BC, PQ, XY are parallel.
a) What is the measure of Z/BXY?
b) What is the measure of £ZXYD?
c) What is the measure of ZR?
d) What is the largest-angle in triangle of PQR?
e) Among the pair~of angles given below, find
the pair-with'equal measures.
A)ZXPQ, ZPQY;
B) /PBC, £ZXPQ;
C) £PQC, £ZBCQ;
D) /RBC, ZRCB

OR



B.In the figure AB is parallel to CD £~

ZEGH =50°, ZGJD = 125", %

ZEFG = 50° 3 = =N

a) What is the measure of ZGHJ? : / \\\25’
c H qF

b) What is the measure of £ HGJ?

c) Write an angle which is equal to

ZHGI.

d) What is the measure of ZAEF?

e) Look at the statements of Surabhi regarding the angles,of two triangles

between parallel line as seen in the picture.

A
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i.  The measure of ZABD is equal to ZBAD.

ii.  The measure of ZBAD is equal to ZACD.
iili.  The measure of ZABD is equal to ZDAC.

iv. ', The measure of ZABC is equal to ZACB.

Choose-the.correct statements
A. (1), (i1)
B. (ii), (iii)
C. (i), (iv)
D. (i), (iv)



2. a. A statement and reason is given below

3.

a.

Statement : If 8 liters of milk is filled in 6 identical bottles, each bottle

.oa . .
contains - liters of milk.

Reason : g means 6 is equally devided by 8

Examine the statement and reason, find which is correct
A. Both the statement and reason are correct.
B. Statement is wrong, reason is correct.Statement is corréct, feason
is wrong.
C. Both the statement and reason are not correct.

3 . 1 . K
Draw a rectangle and show : parts of its 3 part by shading it.

Area of a rectangular shaped plot is 384 square métres-There is a garden inside

5
the plot which has an area of 5 parts of the plot. Find the area of the garden?

Draw a triangle ODC with OD = 9 centimeters, OC = 5 centimeters, £D = 30°.

b. Without changing the measuresof, ODwand £ZD, it is not possible to draw the

triangles when the measure of <OC.1s;
A. 8 centimeters
B. 10 centimeters
C. 4 centimeters

D. 9 centimeters

In the figure, shaded part represents the product of two fractions, See the

statements Babu wrote related to this.



parts of
parts of

ii.

iii. parts of

W W= R
Wolbd TR e

4
iv. E parts of the large rectangle

Which of the above statements are true?

E. Only iv

F. (i) and (ii)

G. (1) and (iv)
H. (ii) and (iii)

1 .. ) . . )
b. A man travels 2 n kilimetres in one hour. What isthe distance he travelled in 2

1
3 hours?

c. A4 metre long rope is divided into 5 pices of equal length. What is the length

3 . . . .
of - part of its one piece in metres? In eentimetres?

5. a. Draw a circle with 5 centimetres radius and complete the patteren as shown

below. Shade it and make pretty.




b. Measures of sides of some triangle are given below. Which of the

following is the sides of a traingle with two equal angles?
A. 5cm, 3 cm, 4 cm

B. 7cm, 6 cm, 7 cm

C.4cm, 6 cm, 8 cm

D. 5cm, 7 cm, 9 cm

The sixth question has 2 questions (6 A and 6 B). You only need to. answer
one of them.

6. A.
a. The division operations in column A are connected with thefractions in column
B.
A B
1 I 4
. 1= == a. —
2 4 3
1 1
2. - = - b. -
3 2 2
1

3. - + 2
P c. 2
1
d -
2

Which'of the following is true?

A. 1 —a, 2-=b, 3-=c
B 1 —c, 2—a 3-=d
C. 1 —=c, 2—=d, 3—a
D 1 =c, 2—sa 3-b



1 . . .. ) .3
b. We want to fill 4 n litres milk in identical bottles. A bottle can cantain ,

litre milk.
How many bottles will be there with full of milk?

How many more litres of milk is needed to fill the bottle which is not completely
filled?

. 1.
c. How many times of 1 S8 5?

OR

6) B. a. A big vessel contains 25 litres of water and a small vesselcontains 15

litres of water.

1. Water in the smaller vessel is = part of theJarger:

.. , .2
11. Water in the smaller vessel is 3 part of the larger.

. -
11. Water in the larger vessel is 3 times'the smaller.

Which of the statements given above are.true?

A.1, 11 correct
B. Only iii is correct
C.iand 1i1 correct
D. 11 and 111 correet
b. Howmany pieces of*1 % metres long rope can be cut off from 8% metres

long rope? Whats the length of the remaining rope?

. 2 .
c. Among two numbers, larger is 1 3 times the smaller. Then, what part of the

lafger-number is the smaller?

di¢ "Complete the missing portion :

1 1 1
4~ X3~ =(4%x3)+ (e ).





